Complex Numbers 3.6 Conjugate Roots December 04, 2012

3_ b 2. Solve these equations, giving your answers in the forma + bi a,b € R.
Conjugate rootS (i) 2-27+17=0 (i) 22+4z4+7=0
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3. Form a quadratic equation, given a pair of roots in each case.
(i) 123 (i) =2+ (iif) 4 +2i (iv) *5i
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X*=(4)x +5 =0
4y 450

(i)
Ri+ha = 4+92i +4-2i =9
Ritn = (4e2)(4-2i)= 1L 47 >0
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4. If z =4 — i isaroot of the equation z* — 8z + 17 = 0, show that 7 is also a root.
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5. Show that —2 + 2/ is a root of the equation z* + 3z% + 4z — 8 = 0 and find the

other roots.
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(2+2)% 32 +2)° 4 (242;)-F =0
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121 +U2 'l—gf; o
QUADRATC WACToL




Complex Numbers 3.6 Conjugate Roots

5. Show that —2 + 2i is a root of the equation z° + 3z2 + 4z — 8 = 0 and find the

other roots.
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This is the third solution
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